Mistic Panel LED 60x60- Wersja wpuszczana

lllustration for led panel light installation
----- Recessed

Material composition
x4 pes x4 pcs x8 pcs x4pcs

= #4 7 T

L shape Bracket Spring Hanger M3*8.5 screw M3I*6.5 screw
Installation
Remove the original screws of this positions Fix the L shaper bracket with M3*8.5

_ self-tapping screws

Fe N\ (1)
/

77

Connect the L shape Bracket and Stretch the four spring hangers and
Spring hanger by M3"6.5 screw insert onto the backside of roof

size of panel L*W(mm)

(mim) Mounting Dimensions
295095 267067
620620 292*592
295295 267267
295*595 267567




Mistic Panel LED 60x60 - Wersja natynkowa bezramkowa

lllustration for led panel light installation
---— Ceiling mounted

Material composition

x4 pcs x4 pcs x4 pcs x4 pcs X8 pcs x4pcs
% E — _I-f ZZZZZZE Zg E
plastlc MT;‘?E .

expansmn self-tappin e . : . 1

SCrow ore P lifting device hanging part M3*8.5 screw M3*10 screw

Installation

Remove the screws of this positions @ fix the hanging parts with M378.5 screws

self-tapping screws
\ i X

=
LED LED
Panel ° Panel

L (& "____‘;,:g_
roof =
size of panel L*W(mm) A=

{mimy) Mounting Dimensions - i TOD VieW drawing i

MSTC-05411910 5107409 | 1 '

== To fIx these four lifting devices on the
ﬁéwﬂf roof with screws according to the size
Lo | shown in the illustration
=  —
Nalllng M3 x10 screws into lifting =
— —T
devices in the direction as the arrow - — F

shown.Attentlon: The screws should M

not be nalled to the bottom
Putting the panel on the lifting devices in the direction as
illustration showed (pay attention to the combination

@ f between the directlon of panel and lifting devlces) / B
roof—__

roof

r-Plastlc expanslon screws

|_lifing — P —

M3 x10 screw ——— M4 sel-applng screw ;f" _ ___..-—-""'_ e = LB

_ ’“E:Tfl B \Panel
? % ] ] Light

Installation finished

R




Mistic Panel LED 60x60- Wersja natynkowa ramkowa

lllustration for LED Panel Light Installation

----Ceiling Frame

1.Components

Ceiling  Spring steel Galvanized TEX Socket M4x5 M4x25
Frame A FrameB  accessory corner corner cap machine Self tapping screws Self-tapping screws Expansion screw
+2 PCS #2 PCS «] PC3 35 #1 pcs  tooth screw #1 PCS +1 PCS +1 PCS
+8 PCS
/ / W] Y T
L1
2 Assemble the frames according to the following illustration Freme &

= -
-
Y

~

Frame B

Keep the same frames in opposite side

3.Mark position details as below

Item Mo. L*W (mm)
ACF-PDB1Z-HMW/S 1085554
ACF-PO31Z-HWS 1085254
ACF-PBIBZ-HM/S 400°570
ACF-POB0B-HM/S 4657554
ACF-PO308-HW/S 465254
ACF-PO303-HW/S 165254

- — N
7
|' () "|
\ /
N /
. o -~

— Eroove

4 Installation

@
@
@
@
®
®

=
®

Drill 4 holes at marking position with expansion screws and self-tapping screws(not screw too tight).

Install the assembled frame on the roof.

Maove and fix the ceiling frame (left to right, or right to left) through groove.

Tighten M4x25 self-tapping screws.

Open the frame B on one side, insert the panel into the frame, then seal the frame.

Installation finished.




Mistic Panel LED 60x60 - Wersja zwieszana

———1WbI7 |sued

--
--|||Huuunn/|umm_mn|..u
asepng Bununopy molep
10 pueg S
‘mojaq Buimelp o} 1aja1 ases|d Jaylo Ydes o} Jesu sped Buixy oy ] a3l
au) Buiyew 1saB66ns am ‘moLEU 00) S| S3EUNS UOIE|[EISUI 3L J| uwmw_n_HHI sdol =
w6 jeued g e Busy—F 1Y =)

mauos Buidder-yas oz, i}

wauns uoisuedes gseld— 1.

o
b

3|0y WLWEE N0 INT

SMBI0S §° 8. m sued Bulbuey au xi suonisod as3uy) 10 SMaIDS 3] A0
WeIBeIp MO[3q SE [IE1SUl SB.CW UIm sy ibuey su) xi4 n u J u o

joou @ @ @

Wb 21qeYns U} 0 JojenBai au} 1snipy @ uonejesuy|
S0d 8 sodv | _—" | sod¥ | sodv¥ | sodv | _— | __— | sod¥ Sod ¥ Sod ¥ SOd ¥ | 0E6LLVSO-OLSIN
2| - 4
L0 | = Nl O = i pro
malas ved Bujbuey IBUSEM nu ed d _, MRUOE MRI0S
S8.EI loje|nbau adou [pa)s auedBuxy o yed Buxy g4 Vghe Buidde}yss  uojsuedxa
Bupy upy 5Z. 4N onse|d

L

U (=] 1

uolysodwon |eLaiep

y T ) = —

(adAy Bulieo) uojsuadsng
--—uole|jejsul Jybi| |oued paj Joj uopensnjj|



